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Changing to Moles and Grams:








1. What is the Molar mass ( g/mol?) of the following molecules? 
 

a) O2

b) H20

c) CO2

d) C6H12O6

e) Ca(OH)2



2. Which of the following molecules weighs more?
 
 
a) C5H12 _____________    
or

Br2 __________________

 
b) Ethanol (C2H5OH)______________     
or  
Pb__________________



3. Use the Molar mass (g/mol) to find how many moles are in the following:

 

a) 900g of gold (Au)


 

b) 100g of Fe2O3 (rust)


 

c) 3g of sugar (C6H12O6)


 

d) 0.278g of Ca(OH)2


 

e) 2Kg of NaCl

4. Use the Molar mass (g/mol) to find how many grams are in the following:

 

a) O.11  moles of gold (Au)

 

b) 0.002 moles of Fe2O3 (rust)

 

c) 200 moles of sugar (C6H12O6)

 

d) 4 moles of Ca(OH)2

 

e) 4 moles of NaCl


5. How many molecules are in the following? (1mole = 6.02 x 1023 molecules).

 

a) 3  moles of gold (Au)

 

b) 3 moles of Fe2O3 (rust)

 

c) 0.02 moles of sugar (C6H12O6)

 

d) 234 moles of Ca(OH)2

 

e) 0.0003 moles of NaCl


6. How many molecules are in the following? (1mole= 6.02 x 1023 molecules). (Hint: Always convert to moles then solve)



a) O.11  moles of gold (Au) 

 

b) 0.002 moles of Fe2O3 (rust)

 

c) 8 g of sugar (C6H12O6)

 

d) 30 g of Ca(OH)2

 

e) 3 moles of NaCl

BONUS:


7. Given the following equation answer the following:

C6H12O6 
     
C2H5OH  + CO2
a) Balance the above reaction.

b) If I had 1 sugar molecule (C6H12O6) how many ethanol’s (C2H5OH) would be produce?

c) If I had 1 mole of sugar how many moles of ethanol would I have?

d) If I had 4 moles of sugar how many moles of ethanol would be made? Change to Grams.

weight of a molecule = g/mole:


�Ex: H2:   Weight of H2  = 1.01 + 1.01  		              Molar mass of H2 = 2.02 g/mole� 	                      = 2.02 AMU���Ex. NaOH: Weight of NaOH:   = 22.99 + 16.00  + 1.01  	Molar mass of NaOH = 40  g/mole� 	                           = 40.00 AMU








